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The momentum of a photon having frequency 3 x 10** MHz is

(A) 6.6 x 107®Kg ms™?
(B) 6.6 x 10~%®Kg ms™*.
(C) 3.3 x 107%Kg ms™
(D) 3.3 x 10-*Kg ms™".

If the speed of sound in hydrogen at standard temperature and pressure
(STP) is v, that in helium at STP will be

(A) v/V2.

®) v/2

(©) 2v.

) V2.

A wave travelling in a medium causes particle displacements given by

y = agin(wt — kz). The ratio of the maximum particle speed to the
speed with which the wave propagates is

(A) ak.
B) w/k.
C) aw.
(D) wk

Two rooms of equal volume are connected by an open passage and are
maintained at different temperatures. Which of the following state-
ments concerning the number of air molecules in the two rooms is cor-
rect ' '

(A) Both the rooms will have equal number of air molecules.

The room at higher temperature would have smaller namber of
®) air molecules.

(C) The room at the higher temperature would have higher number

of air molecules. ;

(D} The room at lower temperature would have higher number of air
molecules because it would have a lower pressure.



